ACCOUNTING AND FINANCE

Paper - I (Income Tax Law and Accounts)

Tinm Allowed : Three Hours Maximum Marks: 100
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. Part-A (Compulsory)

. - (umT — 3) (siFapt)

Q.1 A firm set up its business on 15th(December, 2012, though it
: commenced its operations froni 4th November, 2013. What would
be its first previous year ? ( : '
o BH Y AT AR B I 1 5 RS, 2012 BB €N, Al
YR BT URF 4 TaHENN2013 Y ol | BT YoM T a9 T EFIY

Q2. When is a firm tredtéd asnon - resident ?
T v o AT e 7 | |
Q3. Enumerate any two such incomes under the head 'Income from House

Property which are exempted from payment of Income tax.

e ey S B U S A <Y SRl Y e BT Sl AR

JgEeE - |

Q4. Wiritten down value of furniture on 1st April, 2013 was Rs. 22.000.
said whole of the furniture for Rs. 18,000 on 21st March, 2014.
Calculate allowable depreciation.on furniture for the assessment year
2014 -15. | - |

o gt @1 ofefEd e 1 b, 2013 BT 22,000 %, A 2]

AR, 2014 PG BEx 18,000 w. ¥ fiey o= e — e
fro1 g 2014 — 15 %ﬁwﬁa\'wﬁmﬂz{maﬁmm|

Q.. What are those assets in respect of which the assessee can not eXercise

| the option of takKing fair market value of 1.4.1981 as the cost of

1siton? . '
gc%l:uf%awﬁﬁf R e 3 B FRERT 141981
IR Jed D1 I F< B T WY S fped @ T8 AT
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Q6.  Shri Abhishek received family pension @ Rs. 4,000 per month.

Calculate the amount which would be included in gross total income
for the assessment year 2014 - 15 .
A NS BT 4,000 . 9w TRaRS e o1 g8 | 3 — fAaRon
T 2014 - 15 ¥ Wb g I F R B W TR AR I
, DI |
Q7. An assessee has paid premium of Rs. 4,000 anid Rs. 3,000 in cash in
respect of preventive health check - up of his dependent son and-
father respectively. What amount shall be allowed as deduction-in
computing his total income?
TP PRSI 319 ST I T e ) Franes warem wilg O @99
4,000 ¥9 T 3,000 ©9F & DT B T0g W, foha | et
ST T TOFT PR T S et IR o) BT &Y SR ~
Q3. What do you mean by 'Common Property' withreference to Hindu
Undivided Family? : A
o Rl oRaR & et § vigee S o s s R
Q9.  Can the remuneration given by a firm to/its active partners in case of
~loss be allowed under Section 40 (by™f'so’ to what extent ? et
T S D T2 F N GRT 40 (S) S e afea RERT @ X T
RS Wed R o1 TeaiEl ¥, & s S aw? /..
Q.10. What is the 'Best Judgement Assessment'?
“Farad o & — AR qare?
' Part-B (41771 — 9)
Q.11.  Explain partially)agricultural income.
Q. 12. Ramesh owns4 house property. The construction of this house was
. started on 1stApril, 2009. On 1st-October, 2011 he took a loan of Rs.
1,00,000from Life Insurance Corporation at interest rate of 12% per -
annum."“The construction of the house was completed on 30th June,
2013.'Ramesh paid half of the loan on 30th September, 2013.
Gompute the amount of interest deductible for the assessment year
ggr;:w}iammwﬁr%lsﬂwmﬁwm 1 3, 2009 B
oRE B 11 1 SERER, 201 1 B I T oW F Fwivr 3y
1,000,000 . &I 91 wia= €M1 77 ¥ "1 2 RN gfieay 6 X &
<ot X forT 1| W ot F B 30 S, 2013 B O gan |
[ Y 1Y %0 P A 30 @R, 2013 @ F
PR—FAeiRu af 2014 — 15 D ¢ ST B HXN B A B WO
B | _
Q.13.  Atharvasold 500 bonus shares of a company @Rs. 1 50 per share on

h—‘
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Q.14.

Q15

S e B T T e RS Y St IR 7 v

Q.16.

T B TS Ul A S S ! .6.1'9'79\&311?1"%3135&@% AR

1.7.2013. These shares are allotted to himon 10.8.1984 frec of cost.

The fair market vialue of these shares on that day was Rs. 20 per shae.

Cost inflation indléx for the year 1984 - 85 is 125. Brokerage was

paid @ 2% on sale of shares. Compute capital gain / loss for the

assessment years2014 - 15. Assume that the shares are not 'listed at

any stock exchange. o

Want difference would it make hid these shares been allotted tohim

on 1.6.1979 and the fair market value of these shares on 1.4.1981,
would have beén @ Rs. 15 per share? P ¢ :
3o Y e SEND 500 I I 150 6. YR S B IRH 7.
2013 P iy 6 |1 3 o S R G e & 10 AW, 1984
21 st f5Y T 91 vu RA e ofa TR = 20 NUR s |
aT1a§ 1984 — 85 T T FHR EHP 1258 | 99 & g o ;
2 yfer @ aX ¥ e & w3 - Pekongie014 - 15 K
Rrg Yo ama/ef B o A | T AER) D I frdt |

1.4.1981 BN ISR e (159, Ui - Tar?
Explain the provisions for set Off and carry forward of capital losses.

it i o g O ST O S A TraE B e |
Profit of a partnership firmiis'Rs. 3,00,000 after charging interest on
capital @20 % on“its\total capital .of Rs. 5,00,000. How much

rermuneration cambe,paid by this firm toits partners if it is a business

firm? : v .
TR 315 00,000 . &1 FE I W 20 NG =N < B,
g, 6 B4 @1 3.00,000 . 1 @™ gan &1 A A€ TP RS

, Part-C (911 —9) _
How:is residence of an individual determined for income tax purpose?
Explain the relationship between residence and tax liability?
v Afte o ara T SR & fore frw yeR FreiRa fear S
%?ﬁamwmam-a@aahmﬁtw-@iﬁmmr
| OR/3erdl |
Shri Om was a manager in a factory in Delhi in which only 8

persons are employed. He gotRs. 10,000 p.m. as basic pay, Rs. 2,000

p.m. asdearness allowance (under the terms of employment) and Rs.
1,250 p.m. as house rent allowance. He resides in his own house. He
got Rs. 20,000 as travelling allowance, but he spent only Rs. 14,000
on travelling. He also got Rs. 500 p.m. as transport allowance for
commutation between office and residence. _

He retired on 1st January, 2014 and got Rs. 2,00,000 ads gratuity

—
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fund was equal. He also received Rs. 1,44,000 being the amount of
salary including dearness allowance for 12 months' earned leave to
his credit at the time of retirement.

He was allowed 10 gef pension of Rs. 5,000 per month, three -
fourth of which was commuted for Rs. 1,50,000. He commenced
service of this factory on st April, 1983 and his average salary during,
the 10 calendar months/immediately preceding his retirement was
Rs. 12,000 including d¢arness allowance. Employment tax payable
to State Government was Rs. 2,000 but he paid only Rs. 1,000 during

the previous year against the due amount.
‘Compute the taxable income from salary of \Shti-Om for

assessment year 2014 - 15.

£y 3l fecel 3§ v BrREM ¥ y9ue ¥ RmH-dda 8 afd oM
Ux o g€ E1S 10,000 . URE A ,/2,000 . GfE
FEME T (AT T D AR T 1,250, URHAE FHH R
a1 fiierar 911§ W90 @ 96 H wWorelS® 20,000 . AT A7
e, forg SBF IP1 W daa 12,000 %. g AT S W ¥
Frafera a9 PEed ¥ TR G998, ~ WM 6l 9RaET W1 500 ©.
gforrs A1 g s | |

3 1 9FEY, 20 14-P) aFgT §T 941 S 2,00,000 %.
ﬁ?gamz,so,oooamﬂrmqﬁwﬁfﬁa%umﬁma%

wglwﬁﬁvﬁwammmmwwm
& qEE T HE S Tl AfAT SHaBRT B IKe A HEMS

fed 99 144,000 . 9I<I T | -
I 000 . giE v Wiga 1 1, e 3/4 WD
e G2 50,000 5. 9Ta oY ol | S8 $6 Bad # /A |
oo, 1983 @1 g 1 i o JAFPRY B JR IF B I PRIveT
2T oTT Slraa WIRi® 99 WETE W iR 12,000 6. @ A1
o ARBR BT P IR D 2,000 S. 3 & Tog T8 T I A

1%00 . PR &1
2014 - | 5 o< FEior a9 & R1g 40 8ier i 397 § AT F-

S P | |
Q.17. Explainthe circumstances under which the income of other persons
are included in the total income of an assessee. .
tﬂqﬁﬁezﬁa‘imwmﬁlmﬁma‘ﬂ I ¥ I AfRAET B
R SR SR - |
OR /3r9dr

The particulars of income of Shri Prashant the proprietor of an industry
for the year ended 31st March, 2014 are as under :
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31 ¥R, 2014 & B 9 7 B 1T AN yer ) v sveEd)
3 Wil €, o1 3™ feyoRE - W

fit and Loss Account :

Salary to staff . 2,50,
Payment of tax on perquisites of an employee 2,000
Office expenses , 43,000
Travelling expenses - 40,000
Entertainment expenses 43,000
Expenditure on scientific research 72,000
Patent right purchased 1,40,000
Advertisement expenses 2,00,000
Preliminary expenses _ 9,.45,000
Depreciation 1,60,000
Provision for bad debts : \ 50,000
Security transaction tax : 10,000
Commodity transaction tax 4 .8,000
Sundry expenses 1,52,000. -
Net Profit ' 8.20.000

" ¢ -~ 20,40,000
Gross profit 17,50,000
Bad debts recovered 40,000

(not allowed as deduction earlier)
Profit from business of dealing in equity shares- 50,000

Profitfromtransfer of duty free . 1,60,000
repledishiment certificate o
_Profitfrom business of dealing in -
commodity derivatives - 25,000

Rent of house property ' - _15.000
2.40.000

Compute taxable income from house property and business of
Shri Prashant for the assessment year 2014 - 15 keeping in mind the
following additional information. ,
@ Scientific research expenses include a sum of Rs. 16,000 being

the payment made to University to be used for research purposes.

The University is approved by the Central Government in this

. behalf.
(i) Travelling expenses include a sum of Rs. 20,000 of daily
allowance paid to an employee who was sent to Bombay. He

spent 8 days in Bdmbay. i
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(iii) Advertisement expenses include Rs. 75,000 being cost of 25
. articles given as present for sales promotion.

(iv) The whole amount of preliminary expenses have been spent
during the current financial year on the development activities
of the industry. ‘

(v) The actual cost of additional fixed assets is Rs. 10,00,000. '

(vi) Sundry expenses include a sumof Rs. 1,40,000 which were paid
through bearer cheque. It also include a sum of Rs. 1,000 for
municipal tax and Rs. 2,000 for interest on loan for repair of lgt
out house property.

(vii)Bad debts recovered include a sum of Rs. 15,000 which was ndt
allowed by the Assessing Officer two years ago.

(viii)Sundry expenses include cost of ljti gation amounting to Rs.

2,000 for curing the defect in the title of a business asset.
- (ix) The amount of depreciation include a sum of Rs. 40,000 being
" the depreciation of a machine and remaining amount in respect
of other tangible assets. The W.D.V. of the’'michine on 1.4.2013
-~ wasRs. 3,20,000 and it was sold on1:7.2013 for Rs. 2,80,000. -
-+ .. Theréisnoother assets in this bloek of assets. . .
1 SRR el @1 e % 38R gy o — Rsikor 9§ 2014 -
15 #r'mzﬁwm'awﬁfamwmaﬁm AT HY
() IS SgaeH & FAT 6,000 . B IR, vo Rreafiemery -
T T A g B R B R e & %) g
| ﬁsaﬁam‘wmma%ﬁwaﬁm%mﬁam
(i) AT 1 ¥ R 1 I B 20,000 . 2y =T
NS ) SR, 3 e Y T 8 Rt Ry | |
(iii)ﬁmwaﬁﬁﬁmq@rég%ﬁa$mﬁam 25 SHEAT H

' (iv)mm%ma?mqﬁwﬁrsﬁaﬁm%ﬁmmaﬂmwm

DT o '

@) 'ggﬂamgrmma%ﬁ%mﬁ%o,oo,ooow%i |

(vi) R =g % 1,40,000 &. m%ﬁa%ﬁimm
W%WWWWIWWWﬂWWWa}

' Frafor sfrerd 3 < 3 9 s o oy o
(wii)ﬁﬁawﬁwmrﬁamﬁfa%wha%maﬁqgar@@
R 2,000 . B BFEA AT A whwfr & |
(ix) ¥19 B IR 10,000 . TN TS 7 g ¥ ¥ qen
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Q.18.

Ay R g - N g 3§ & | W @1 SRR el
142013 @1 3,20,000 . AU 1.7.2.13 BT 2.80.
000 &. % 549 a1 9 ¥ o BIS gHuRi T8 &l

Following are the particulars of income etc. of Mr. Suresh for the
previous year ending on 31st March, 2014 :

| . Rs.
() Income from house property (taxable) - 10,000
(i) Long - term capital gain (computed) 0,000
(iii) Winning from Lottery (gross).on |
10th September, 2013 45,000
(iv) Dividend from Unit Trust of India 10,000

" (v) Short - term capital gain from shares U/S,111 A 40,000

(vi) Donation to national foundation for-

communal harmony. : 10,000
(vii) Donation to approved eduedtional institutions 15,000
(viii)Purchased N.S.C. VIIIthissue ' 10,000

Compute the total incorp€and net tax payable by Shri Suresh

T for the assessment year 2014 15.

-y

31 W, 20 1 4 D) AR 910 T 99 D frg S GRA DT ™

. qire o faaor Fefeiea & - .
(i) HEF FURLS 3 (F¥Ar) - 10,000
(i) SEBIRTT YO0 AT (3MHfer) 80,000
(i) TR BT THIM il (w®a) 10 Ria=R, 2013 145,000
(i) affie ow e 3fosan & @ . . 10,000

(v) 92l A SrcTTed Yol o (9T 111 A B 9ed) 40,000
(vi) RIS WA P ol IJA BRUSIE HEH 10,000
(vii), SRR Rreror weer 3 I 15,000
(viii) TSI FAT — T (3rseH ) T o 10,000

| e PRI As 2014 — 153 R A WA B T S T YF 2T

QI8

aﬂa‘rwm .

OR/ 394t -

What do yoﬁ understand by "Pay as you earn scheme"? State clearly

mportant provisions of Income Tax Act regardingt.

3R DN ¥ TR G T A 19 FT TSR &7 T T |
JHR IR @ AEwaysl TR & TS Al B |
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